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1 Transitive Relation

1. Finding Transitive Closure (1)
X ={1,2,3,4} 912 &4 R; = {(1,4),(2,1),(3,2),(4,3)}2] transitive
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(f)
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A A 9.

1,2) € Ry and (2,k) € Ry
3, k=

,3) € Ry and (3,k) € Ry
4, k=2

€ Ry and (4, ]{/‘) e Ry

e transitive relationg A A3l oF 3= BAE = (i, k) EY
Ag= 21 2.
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e transitive relation2 9| A &A) 3| oF s}+=
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cf) wxMaxima results

(%i2) A : matrix(
[0,0,0,1],
[1,0,0,0],
[0,1,0,0],

[0,0,1,0]

);
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2. Finding Transitive Closure (2)
X =1{1,2,3,4} 919] &4 R, = {(2,1),(3,2), (4, 3)}2] transitive closure=
e EA ot
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o (i,4) € Ry and (4,k) € Ry
i=n/a, k=3

e transitive relationg 9| A EA)3oF 3= FAE = (i, k) E2

R 20
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e (i,4) € Rz and (4,k) € Ry
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e transitive relationg 9| A A3 oF 3= FAE = (i, k) E2)
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